5 th T 5 5 0 I R

et E A TE FEE & TR
1 | F1a| FE2 | E3 | x4 | {5 | E3-2 7E 1 g 2 Z.T
R % 50 60 60 55
S T SR P —E
RIEEY 140 140 | 200 | 280
L. R/ R IE/m: iRV RE/m s | 4 | a] 4
FHE FERTLESRE » S ATT e e
EEF - S AT &t/ INFEE /m 3 3 3 3
ERRECA B ZE & BRI e B [N TR
2. (bR INERE /m: S :
SR I SERT L5 ] 15 [ 15 | 15
e/ NEEHEF AR /m 140 140 | 100 | 250
H M/ NEE/m 7 7
R % 50 60 55 50 70 70
ST Gt e
RIEEY 140 220 | 280 | 300 280 350
3 zuﬁﬁg“ﬁ%/m: . Al R /m 4 4 | a4 | 4
‘_\_’{‘\ 77“‘;‘ nHy ’ /i/\E‘\“rE\'{':‘{:T":,P 1T A=) e
%E'“\EEf Ko © SN & be e/ N /m 3 3 3 3 2 2
ERRECA B ZE & BRI A B N 1. c
4. (R NI /m: S
AL I R L Lo LN RN 15 | 18
/N FR AR /m 140 1000 250
FHHh /N E/m 7 10
R % 60 50 55 70
NI F L EHIE — —
RIERY 220 400 280 280
BT3RS 2l Hﬁ
L @EBSF‘ ﬁmuﬂ%ﬂ@%x SRBOR | FRa 320 560 | 400 400
/—\I_\E S [ S, = U
R AREE/ INFEEE/m 4
2. HMHEIRABERERENR oo ue
&P/ INZEE /m 3 3 3 2
il Av e 1-5[1-5 1-5| 1-5
B/ NEEHIAR AR /m
FHh /N E/m




Pt L 3

1. miber e e R e - R
MNTEAFRIN

2. ISR
80.5.1 H&EH BUILEE 73 E 5 2
REE 13 DR A RE S
8~ HEREE 6 AR

by

il

60

70

210

280

1.5

&b/ NAEE/m

(iR NAEE /m

A= e LR

B/ NEH AR R /m

EH g NET R /m

THEETHE

1. EROPOBRR K T RIS
1
2. &BERT K

MR %

55

70

70

70

BRER%

220

280

280

350

210

AilbER NAEE/m

&EER/NAEE/m

A fe e S R

1.5

1.5

R R
1 R A B i o R R e e

MR %

60

55

Y

220

400

FIRER

320

560

&EER/ NAEE/m

A== bl

Ok = M
1. EEERDCRS RERIIEE Z FHG
e

2 - RBEFREIT K R

70

70

R

280

350

AillsE i/ NAE /m

1-5

&bER/ NAEE/m

BRI

RGBSR E R

MRS

100

IR

100

180




st E AT 2| E3 [FE3-2 |(ES5 |[(ES52 |1 |2 (21| /{3 (31 |4 | &L
VIR R % 70 70 70 70 60
s BREEY% 350 | 350 | 420 | 420 | 500
= el 1.5 | 15 1.5 1.5 1.5
& i/ NS /m 2 2 2 2 2
HE TR % 60 55 55 50 70 | 70 70 70 70 60 66
AR BIER% 220 280 | 340 | 400 | 280 | 350 | 350 | 420 | 420 | 500 100
L E%EF‘%%E%&%% ) ﬁf%;ﬂ FIRERE 330 420 | 510 | 600 | 420 | 525 | 525 | 630 | 630 | 750
; :; A~ PRSI IS R E% e B N R /m p 4
2. A Cun NI s | 3] 3 21212 122 |2
3. LasRra st | Vo AR/ 105
SEHSEN MR TR i e LR 1-5 1-5 [1-5[1-5 1-5
e/ NERHARAE/m | 140 250
B/ NS /m 7
K EE% 60 | 55 70 70 65
BIEEY 220 | 280 350 420 200
1. ERMEEES - SCORIEE B | gimmEEm | 4 | 4 “
Zi% EE@ - TE BLhifs @% Ej’—f/ J\”:K = /m - .
2. A K Gl 3 T
e st 1-5[1-5 1-5 1-5 1-5
B/ NEEHTAR B/ m 250

FHhis/ NE TE/m




st EHEATE FEE R T
F1 | fFE11|{F2 |[FE3 |[FE7 (&1 |[/EH2 B 2-1 | 7§31 ZT
B0 A S (- —25) R % 50 60 55 70 70
SIEE% 120 180 | 250 280 350
1. %ﬁi%?aﬁ%%ﬁﬁ%ﬂﬁ:%i% BB/ NIERE /m 4 4 4
2 H—gﬁfaflt ARENME 3 G el & BE i/ NS /m 3 3 3 2 2
R bR A R 0-5 0-3|0-3 0-3| 0-3
EISMdNESET Oy g, <
Ll 1 1-25|1-5 1-5| 1-5
B/ NEEH HIRE/m 140 100 250 100 500
Fr i/ NE B/ m 7 5 12 5 20
B/ NZEHEE R 60 50 55 40 40
e/ Nz R ES i AEEE | 50 40 45 30 30
SRR 8m DL F
i B AL 1/5 LAk
AT SR AR AR FRIBIZER X 58 X 1/2
E E R % 50 60 55 70
BIEEY% 140 220 280 280
1+ AERSEREGRERA | gl ERE/m 4 s | 4
TR bR/ 3 3 | 3 >
2 1EUB%5’%J§%%M%%1EU%§ A |/ m 1. s
80.4.1 A HL B RA 47 &
SSRRE 13 AR > Hfp | L3 SN L3
AETERESE - ERA e | A/ MEHERYm 140
AR B Hetth i/ NE 7L/m 7




e o7& Br1-1~3 | #r2-1~2 | Hr3-176 | BT 4-1 | 5-1 | B e- | #r7-176 | i 8-1
B L EAE
4-2 1~11
. R Y%, 50 40 50
100 £ 8 B =% Er{]ﬁ_,_ A 50 50 50 80 50
RFERY% 350 320 400 650 | 600 600 480 600
B = e b 1.5 1.5 1.5 2.0 2.0 1.5 1.5
F/NELH HIFE/m 1000 1500 1500 3000 | 4000 | 1000 1000 5000
2000
#mstE R A TE FEEE PR TH&E
F1 | fFE11] F2 | FE3 | F7 | FEL P2 | 21 | pH3-1 ZAk
. R % 50 50 60 55 50
R HNE (FLHB) —
BREHR% 140 140 220 280 140 2 2 2
E i 2 UEA forIRE H_’
1 BUEERSEMIRER A | [iaves 200 | 200 | 320 | 400 | 200
1T ‘é. ZIN e i = i
TEERY | iR EE/m 4 | 4 | 4 | 4 | 4
2. {HIfEsE RS BRI B % el |\ m 3 3 3 3 3
== 3 A TLHX 7K
[ BLAREE 5.5 4% o
=d=! N/ === o .
3. 79.9.21 FAkHE e syE | TR NASE/m 100|403
SERERIE 13 AR | R 1:5)1-5]1°5]1:5]15
FESRESIEECRE 2 AR ST | B/ NEHERR/m 140 | 140
HiE FeH A/ NEE/m 7 7
R Y, 50 50 60 55
HE I FoKRHE (+8H) —
BIEE% 140 140 220 280
ST O [ SR N —
1. EUBE/*E*%E@DX%@*%& LBE@%%BE%IQJH:BE 200 200 320 400
LS A TEERR US—
““Eiﬁ)\ﬁﬁ%ﬁtﬁm RibEiR/ NAREE/m 4 4 4 4
2. PUBERE—REMGEM
7 &b/ N /m 3 3 3 3 2 2
=
1B PR Y S FE b
RIS EHEY = E L 0-3
R A/ N A& EE /m 1-5 |1
A=t 1-5|1- 1-5]|1-5




/N /m?

140

140

FHtbs/NE 5/m

HURRMEN T ZE TR
&=

65

BRHR%

500

YL

1-5

&

1. Wb

2. 20 AR EEpRE A
AAIBEEIR S +— s
1%

3. it 1 By F RNt
EEEA

50

BRHR%

120

FilbE NAEE/m

& bE R/ NAE/m

{AIbE i/ NAEE /m

R w
(O, I, T,

B e LR

B/ N R/ m?

140

E Ry NATH/m

12

7K YR SR

35

B

420

FLEREE B ARG
—)

60(F)

60(ZJ5)

AR

580

320

# s

EEE

TEE

*1

11

2

F2-1|E31

P 1

P 2 P 3

75 3-1

ZT

S E(/\H)

EIRE RIS AL ol R 54 R
29 fFRIFEE AL IR
1. mibes/ NAE/m:

70

60

60 55

70

70 70

70

B

140

220

220 280

280

350 420

420

EPRARER%

210

330

330 420

420

525 630

630

FilbE NAEE/m

&b/ NAE/m




FEE e - s | Hbos/NEE/m 1-5
MNTEEFGRA AR | BEEEr: 1-5 1-5 5|1-5 5(1-5 | 1-5 1
ZEfEE BRI ELHh iR/ m? 140 250
2 - fIbEa NEE — A S B NETEL/m . 0
EHHIE
BET EHN S AR FEEE e
% BIEE% R % BREEY R % BIEEY% R % BIEEY%
g 60({F 2)4E: | 200((F: 2)1Ex | 80(R 1)/ME | 240(pF 1)7ME
80(FF 2)H38 | 240(p% 2) = H.Z2.ZE H.Z.=E
& & 70 210
60(E 3)/NEE | 240 ({F 3)/NER | 80(p5 3)NER | 320(R% 3) IR
B 60 180 80 240 Z.70 Z. 210
60(fE 1) 200({F 1) | 80(Fg 1) 340(pg 1) Z.ZE 70 7.2 210
AHE 60(fE 2) 200(fk 2) 80(75 2) 340(75 2) Z.E 70 Z.% 210
SR ER EE 180
G 15 AR E
60 200 5L I (4t 80 240 Z. 70 7,210
7 30 AR
)
I 180 E&#7 15 4
RELLTH
60 7 18 /8 J 80 320 Z.E 70 Z.%& 210 EEE 70 &= 140
240 FELL_E (4
7 30 A REA




)]

e 180 &% 15 A 320(E&HE 15
REDLUT ANRELLIT)
e et 18 /AR
60 i":i;;i )(_‘;f:é 80 i 70 210
30 PR 480 B4 D) F (4t
;;) - 7 30 AR DL
)
50(fF 1) 120({% 1)
AEHIAE) 50((% 2) 150(f% 2) 70(75 1) 210(75 1) 70 210
70(7 2) 280(F5 2)
60({F 3) 200({F 3)
. 60({F 1 120({F 1
KB (FEAHIE) (L {Ees) 60(7 2) 480(75 2)
60({F 2) 200({F 2)
60([ 3) 320(f 3) a7 & 210
80(f5 3 320(75 3
60({F 4) 180(f% 4) 25 (i 3)
. 60(f% 1 120(f% 1
(B SHIE)IERE £ 1) e ) 70 350 70 210
60({F 2) 200({F 2)
A 60 180 80 240 7,70 7,210
180 320
\[Z AY /i @
ARFFRE) &P 20 AR E Bz 20 AR
60 240 B&LL - (4t 80 78 400 DL Z.70 7. 210
30 AREL (47 30 AR
A) LAA)
KPP HE) —
BEPE 20 A RE
60 240 FELL F (4% 80 300 Z. 70 Z. 210
2 30 A RPA

n)




Sl 60 200 80 320 70 210
60({E 1 165({F 1
oy (1) (1)
S0( 2) 180( 2) 80(7 2) 320(7% 2) Z, 60 7,210 Y 180
50({ 3) 200({% 3) : : HEE
50(f: 4) 280({3: 4)
IR 50({% 1) 180({F 1) w2 B 7, R
R ERE 5.2
EFHRMERERE D) T 80 320 4 . 7, & 70 1o
KAt 60 200 80 320 70 210
50(3: 2)5t 150({% 2)i #
BFAREE Egio) e @i(ﬁoc: PN o 300(7 1)
- — B 70 [#74 150
50(fE 3)mi#l, | 180({F 3)riith R o
E# 55 E# 220 B =
50(fE 4)iistl | 200({F 4)rith
E5#l 55 B 240 G 0L 7. & 70 7.2 210
50({% 5) 330(f% 5) 80(i5 4) 600(75 4)
KH 60 240 80(Hif5 60) | 320(57g 240) Z. 70 7,210
KEH(HEHE) 60 180 80 240 Z, 60 Z. 210
#ZhELRER 60 180 60 240
K2 60 180 80 260 7, 60 7,210
i 60({F 1) 180({F 1) 80(75 1) 240(75 1)
60({E 2) 240({% 2) 80(P5 2) 320(p5 2)




= 60 180 80 320 70 280
Bt 60 180 80 320 Z.70 Z, 210
R 60 180 80 280 Z. 70 Z. 210
60 200 80 280
7 > vt
Al KRR EE FEEEEYSEAGEBEZIEE, | FEEEYSEAMEEBE g, ZZE 70 2.2 210

EEffeEBEt AR

Em AeEET AR

5 HESR ER

50(f£ 2)

150(f£ 2)

80

240




